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= 1,213,632 1,198,632 15,000

OHH BN MAHY LY (SYHSSM/5Y - 5F) 635,857 591, 184 44,673
= 224,333 194,660 29,673

& 411,524 396,524 15,000
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= 224,333 194,660 29,673

= 267,151 267,151 0
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= 224,333 194,660 29,673

101 Q14| 169,577 155,014 14,563

= 169,577 155,014 14,563

04 JI2tHIZ2E2NEE S 169,577 155,014 14,563
OJAZMA(HRAZRS, 1,735a) 169,577 155,014 14,563

= 169,577 155,014 14,563

206 M=l 45,028 29,918 15,110

2 45,028 29,918 15,110

01 M=H| 45,028 29,918 15,110
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= 45,028 29,918 15,110
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A LB 25,000 10,000 15,000
401 AlZBIL 20| 25,000 10,000 15,000

01 Al&H| 25,000 10,000 15,000
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